[N of reco track vs normalized x? ] [N of associated (recoTosim) tracks vs normalized N of associated (recoToSim) looper tra
1%} [%] (%]
3 S S
o B g
® © 10° o
=1 X =1
= 8 8
=
>
k=]
....... 1
° ° o 1 i ; °
EF i | g g ------’E”;lﬂT;ﬂ :
[ R A - 0.5F
mmﬂ ++++ +++++++f ++ { T [ Foind, +-H‘++ +++Jr+ +{: +++E ‘ I
cU 2 4 6 8 10 12 14 16 18 20 2 4 6 8 10 12 14 16 18 20 C() 2 4 6 8 10 12 14 16 18 20 C0 2 4 6 8 10 12 14 16 18 20
track x? track X2 track x? track x?
g A erAARes o —L000avE
¥73_$P00RYUTLIER 1000evt |35
2] 1%} F 1%} F (%]
X x X X
Q Q [} Q
S 4 S 8.4 S
10°F . o 10 P 10°E °
S ¥ = P
E: b=} o “!E g
10%kz 10° 10° s
y ) = o
10°ps
¥
10R
8 2 8
3 3 3
x o x
o e B
0 =




	Contents
	Page 1


